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1. B E DU ESAER AT RERRE ¢ (24% )

(a) TCP/IP 4ERZIHAYEE » % ~ YW F Aol 4% Internet JBRYEEREE
%% ( Logical Connection) 7?7

b) ARP ( Address Resolution Protocol ) EJ{EFS Bfd 7
(C ) BEFTI{EEGITS » A Asynchronous BY{EEAELE
Synchronous =9

d) ADSL 40al ¥ F DMT SRR ER] L~ TEEEA—7
(e) CSMA/CD #a] T (&8, it ?

(F)1F Bluetooth f#{a] SEFEFR{E piconets &1 scatternet ¥
(g )DCF R4 E T MAC FEMTZERHE » E T NAV (Network
Allocation Vector) &8 LB T E 1] 7

(h)Z22 R iBHYEE AN ES 2 RFERIEEEIEZE (Public
Key Encryption) 7

%%

2. Monolithic kernel and microkernel are two main kernel architectures
adopted by modern operating systems. Please describe their features
and then explain their advantages and disadvantages respectively.
(10%)

3. (i) What is heap overflow attack? {5%)

(i) Please describe the mechanisms which are available for modern
computers to prevent heap overflow attack. (10%)

4.8 — B 40 4 ZE E T E M L % % & (Information svstem
development) & &ifEfT feasibility assessment Z5,f5 “feasibility”
1 measure & 7 (2%)

F B HIVOFE feasibility » Z1E measure FEE 7 (8%)

5. BERAERASEBENITE BARFERE bﬁﬂ‘ﬁ 1TV ITE Rl
BEREYGEE SRR L Senil & hEERTT
I 7 (8%)
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6. W TEIFF » Test &— Relation » Bi8FE foreign key * DAFTRZ

data B2 » BRI Candidate key HWRLE ? CEHKAAR - BETT
SAE) (8%)
Test

A B C D

301 bal3 | icll | Al

302 ball | 1clZ | Bo

305 bal2 | 1c55 | Ca

307 ba3l | 1c31 | Ha

310 ball | 1c17 ) Al

7. What is the difference between “method overloading” and
“method overriding” ? Please provide examples for
explanation. (10%)
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